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1. 38 6.1-1 TE RS ABC P, LC
=90°, AB=¢, AC=b, BC = a, W
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= N cosB:
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c b
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2. BV coed7°6" = 0.6807, M} sind2°
54’ = X
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C. cos60® D.sin60°
8, B RIAABC ARIAANBC, ZC€
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A.sinA = ~-sinA’
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B.sind = 3sind’
C.sinA = sind’

D.sind = % sind’

=, BER

1. & 2c0860° + 25in45° — sin30°

2.3 E . (sinb0° + cosd5°)  (sinbB0° -
cosdSt)

3. 88 MEG6.1-2, fFAABC 1,
SJACB=9%°, BC =2, h#k CD=3. K

sing ACD 5 cos/ ACD B{H.
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1. BRI 8" - S@xcosa+ Osing =
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, sinA
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3. &5 ABBMA, Hian'd + 2and -
3=0, WA= .
4, ZEE=ZARIKAK 10em, FK
36em, Wl—PEAMEIHE=___
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KA m - WM m+n” (m>n>
0), WL HIE AR RIEN
6. FE RIAABC W, S C =P, AC =
V3, BC=v2, WltmA=______, tanB

= , cotd = , cotB =

|

7. HERAABCH, /C =%, BC =
3, AB=7, W tanA = , tan8 =
, cotd = cotB =

8 .1an10° » tan20« tan30° - tand0° » tan50° -
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- (V3= 1) 4 25in60°
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|
W e
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3. TERODABCH, LC=9%°, LB
cosbl
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mE6.2-5, AABC F, SACB =
90°, ~A=30°, H{ DIEAB FUFEREZE |,

1
H BD =5 AB, R (1) wn/BCD W{H; | y C

(2) % DFEAB LB, WE & B 6.2-5
P SRR TR EEE, B &
FAFLE, EIH .
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1. EAABCH, L C=90°. 1) a=5.

e =13, B sind = _ tanB =
;%cosA-‘-*%‘ a=v3 M4
- ] b: .
2.EAABCH, SC=9°. F da=
3¢, W cosB = _ , tand =
i & tand = 3, W sind =
, cosB =

3. LEDABC H, LC =9, CDL
AB, D B#ER . H AD:DB=4:1, |
tanB = , s5ind = . €%
LBCD=___ .

4. B4 sind2°54' = 0.6807, H1F: cosa
=0.6807, Wla=__

5. T a’sin60° + b2 cos30° - absind5°
" tanb(® - abeotd5® + cot3(® ¢ sin30° =

6. FIF I B2k F A6 M =y m B
H (REUANERET):

{1) sin75%25' = ;

(2) cos75-25" = H

(3) tan8°8’ = ;

(4) tan70°9' =

TR (B3, R184)

7. BB =AT ABC #, # sind =
~

“—22, S B=75, WM tanC = ( )

A3

|

| B,

; C.
|

R w3

D.1
8. AAABC F, L0 =90°.

=2, Wl anA = S

"‘E“ C{}?,A‘

3
A, 5

<.
thl

B.

C.

% m‘% w|

2
9. ESMA=MAIE ABC F, #2c0sA

-li+ (3-tanB)?* =0, W sinC =
( )

D.

10. EAABC W, SC=9r. T

A, AP ( )
A.sind = cosB

WS IS vy -

C.tanAtanB =1
D.tanA «sinA = cos4

11. 7£ Rt AABC F, /C = %P,
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A.sind =&

12. £ RAABC H, /C=90°, Tl
AF e R C
A.sind = sinf
B.sinA =cosB
C.tanA =tanB
D.cotA = cotB

=.iHE (BMsa, 2154)

sin” 70°
|3 s 7%
3 - 3cos’ TP

14, _sin60° + 3tan3(Poos60°
* (1an37°1an53° — 2cotd5°) cot30°

'.....Il‘l.l.!"‘....‘.!'.“'. ............ B FFEA AR AT RS RN

15. B %0 deos’4~3=0, RBMH AW
B BN sinAd BB+ ke -1 =
OW—TH, K & aVfE .

M, BEE (F8435)

16. ¥ m, n YK EH 280 %
f, AREEHR 2~ mx + 2 =0 BIBIIR

|t S TR A E T

17. B & 24BC #, LA, 2B,
LCHIRARBHFa. b o, FHEF
+2mx+1=0ﬁﬁ4\ﬁ%m§tﬁ
W, BAABC B KN 245, EHRNY
4. SR =R A BUAEK .
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18. MK e, mANBEWAEAT 19. SHEA=ZAEAREAR K
ARG HATE, BHRHIEH; Sh LN, m JEXK, FARNa EX,

HRTE, FIERILE LA Hi.m, n 3HERE, | AEE, K
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1. ELARC, ~C HEM, WHE
SA=60°, A AL EEBB T
fag__ .

2. TE RUAABC H, /C REH,
AC=3, BC=V3, WB= .

JLTERADABC W, B ALC =9,
ZB=60°, BC=5, WfAC=_______ .

4. B AABC B, JEH BC = 10,
BB 20, W] ecosB=_

S.ERIAABC H, SC=9%°, LA
=600, BEBHBVFN 14, W BC =

6. ERAABC W, A/ C=9°, cosd

=‘/—§, LB B R 16, W) AB =

7. 3% ABCD Wi B4 AC = 12
4
2

BD = 8, N‘Jsin% , tan

B
tan - =

—_— 2
8. 7E RIAABC ¥, /BAC = %0°,
€D AB F D, BC=V3, AC=1, W sin
/BCD=
. &Eg

1. FERIDABC B, € =90°,

L

bR ABIE, R o %F ()
A, bsinA B.becasAd
C. btanA D. beotA

2. B RiDABC |1, €D A#li# AB
FHIE, B8 AD=2, BD =8, W tand
P B 2 { )

]
A4 B.2 C. b. o

BC =

1
2
3.EELABC H, L€ =9,

3, sind =2, WACHKRE ()
Al B.4
C.5 D.6

4, DHTE RRAABC F, 2 C =90,

sind =7, W cosB HEHT ()
i 42
A'Mi B'?
.3
c.3 D.1
5. B 6.4-1, 7E RiDABC H,
S C=Rt”, BC=4, AC=3, W @mni
F {2 { )
4 3
Az B. 7
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